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torchrun --nproc_per_node 1 example_text_completion.py \
—--ckpt_dir llama-2-7b/ \
--tokenizer_path tokenizer.model \

--max_seq_len 128 --max_batch_size 4
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https://lzwjava.github.io/computer
https://github.com/facebookresearch/llama
https://github.com/facebookresearch/llama
https://developer.nvidia.com/cuda-downloads
https://developer.nvidia.com/cuda-downloads
https://developer.nvidia.com/nccl
https://docs.nvidia.com/deeplearning/nccl/install-guide/index.html
https://docs.nvidia.com/deeplearning/nccl/install-guide/index.html
https://docs.nvidia.com/cuda/cuda-installation-guide-linux/index.html
https://docs.nvidia.com/cuda/cuda-installation-guide-linux/index.html
https://www.cnblogs.com/yutian-blogs/p/13019226.html
https://www.cnblogs.com/yutian-blogs/p/13019226.html
https://gist.github.com/amir-saniyan/b3d8e06145a8569c0d0e030af6d60bea
https://github.com/kmcminn/thinkpad/tree/main/extreme3g
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(base) 1zw@lzw-MS-7EO1:~$ nvidia-smi
17 2023 04:15:43

o +
| NVIDIA-SMI 535.86.10 . 535.86.10 CUDA: 12.2
jJ-——————————————————————————— - B e et B et et +
| GPU Persistence-M | Bus-Id Disp.A | Volatile Uncorr. ECC |

| / | | GPU-Util Compute M. |

| | | MIG M. |
| f f |
| O NVIDIA GeForce RTX 4070 | 00000000:01:00.0 | N/A |
| 0% 34C P8 ow / 215W | 666MiB / 12282MiB | 15% |

I | | N/A |
e ettt o o +
o +
I |

| GPU GI CI PID GPU |

| ID 1ID |
| |
| 0 ©N/A N/A 1926 G  /usr/lib/xorg/Xorg 381MiB |
| 0 N/A N/A 2065 G  /usr/bin/gnome-shell 120MiB |
| 0O N/A N/A 3482 G  gnome-control-center 2MiB |
| 0 N/A N/A 3803 G ...irefox/2987/usr/lib/firefox/firefox 149MiB |
o +
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https://github.com/kmcminn/thinkpad/tree/main/extreme3g
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input_ids = input_ids.to(model.device)
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(1lama) 1zw@lzw-MS-7EO1:~/Projects/open_llama_3b$ python run.py


https://huggingface.co/openlm-research/open_llama_3b
https://huggingface.co/openlm-research/open_llama_3b

salowoz bl easu2edt (00020 UO000000DD0OO0.COODDOOOOO0O0DOOOO.

(base) 1zw@lzw-MS-7EO1:~/Projects/llama2.c$ ./run storieslBM.bin

tok/s: 185.527329
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def generate(
self,
prompt_tokens: List[List[int]l],
max_gen_len: int,
temperature: float = 0.6,
top_p: float = 0.9,
logprobs: bool = False,
echo: bool = False,

) —> Tuple[List[List[int]], Optionall[List[List[float]]]]:
params = self.model.params
bsz = len(prompt_tokens)

assert bsz <= params.max_batch_size, (bsz, params.max_batch_size)

min_prompt_len = min(len(t) for t in prompt_tokens)
max_prompt_len = max(len(t) for t in prompt_tokens)
assert max_prompt_len <= params.max_seq_len

total_len = min(params.max_seq_len, max_gen_len + max_prompt_len)

po azye sed I ol el il

min_prompt_len = min(len(t) for t in prompt_tokens)
max_prompt_len = max(len(t) for t in prompt_tokens)
assert max_prompt_len <= params.max_seq_len

total_len = min(params.max_seq_len, max_gen_len + max_prompt_len)


https://github.com/karpathy/llama2.c

pad_id
tokens

for k,

self.tokenizer.pad_id

torch.full((bsz, total_len), pad_id, dtype=torch.long, device='"cuda")

t in enumerate (prompt_tokens) :

tokens [k, : len(t)] = torch.tensor(t, dtype=torch.long, device='"cuda")

if logprobs:

token_logprobs = torch.zeros_like(tokens, dtype=torch.float)

prev_pos = 0

eos_reached = torch.tensor([False] * bsz, device='"cuda")

input_text_mask = tokens != pad_id

for cur_pos in range(min_prompt_len, total_len):

logits = self.model.forward(tokens[:, prev_pos:cur_pos], prev_pos)

if logprobs:

token_logprobs[:, prev_pos + 1 : cur_pos + 1] = -F.cross_entropy(
input=logits.transpose(l, 2),
target=tokens[:, prev_pos + 1 : cur_pos + 1],
reduction="none",
ignore_index=pad_id,

)

if temperature > O:

probs = torch.softmax(logits[:, -1] / temperature, dim=-1)

next_token = sample_top_p(probs, top_p)

else:

next_token = torch.argmax(logits[:, -1], dim=-1)

next_token = next_token.reshape(-1)

#

next_token = torch.where(

input_text_mask[:, cur_pos], tokens[:, cur_pos], next_token

)

tokens[:, cur_pos] = next_token

eos_reached |= (~input_text_mask[:, cur_pos]) & (
next_token == self.tokenizer.eos_id

)

prev_pos = cur_pos
if all(eos_reached):

break



if logprobs:
token_logprobs = token_logprobs.tolist()
out_tokens, out_logprobs = [], []
for i, toks in enumerate(tokens.tolist()):
#
start = 0 if echo else len(prompt_tokens[i])
toks = toks[start : len(prompt_tokens[i]) + max_gen_len]
probs = None
if logprobs:
probs = token_logprobs[i] [start : len(prompt_tokens[i]) + max_gen_len]
#
if self.tokenizer.eos_id in toks:
eos_idx = toks.index(self.tokenizer.eos_id)
toks = toks[:eos_idx]
probs = probs[:eos_idx] if logprobs else None
out_tokens.append(toks)
out_logprobs.append(probs)

return (out_tokens, out_logprobs if logprobs else None)
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def generate(
self,
prompt_tokens: List[List[int]],
max_gen_len: int,
temperature: float = 0.6,
top_p: float = 0.9,
logprobs: bool = False,
echo: bool = False,

) —> Tuple[List[List[int]], Optional[List[List[float]]]]:
030 88 b Jl gp wds generate Jogwg dag ol Jplep
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params = self.model.params
bsz = len(prompt_tokens)

assert bsz <= params.max_batch_size, (bsz, params.max_batch_size)

po Bazye sed ol Jel gl

params = self.model.params
bsz = len(prompt_tokens)

assert bsz <= params.max_batch_size, (bsz, params.max_batch_size)
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min_prompt_len = min(len(t) for t in prompt_tokens)
max_prompt_len = max(len(t) for t in prompt_tokens)
assert max_prompt_len <= params.max_seq_len

total_len = min(params.max_seq_len, max_gen_len + max_prompt_len)
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pad_id = self.tokenizer.pad_id
tokens = torch.full((bsz, total_len), pad_id, dtype=torch.long, device="cuda")
for k, t in enumerate(prompt_tokens):

tokens[k, : len(t)] = torch.tensor(t, dtype=torch.long, device="cuda")

pods 130 puw ]l B o ygp tokens jopys 9 bz (0000000 0o0oooo 28Jp g ©lJusdosew jop ! oo
000 0000000000 szotessed or weoswesdt sassa HOOOOOOO0:

if logprobs:

token_logprobs = torch.zeros_like(tokens, dtype=torch.float)
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prev_pos = 0
eos_reached = torch.tensor([False] * bsz, device='"cuda")

input_text_mask = tokens != pad_id

SRR SERPERENTIERN]

prev_pos = 0
eos_reached = torch.tensor([False] * bsz, device='"cuda")

input_text_mask = tokens != pad_id
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for cur_pos in range(min_prompt_len, total_len):
logits = self.model.forward(tokens[:, prev_pos:cur_pos], prev_pos)
if logprobs:
token_logprobs[:, prev_pos + 1 : cur_pos + 1] = -F.cross_entropy(
input=logits.transpose(l, 2),
target=tokens[:, prev_pos + 1 : cur_pos + 1],
reduction="none",
ignore_index=pad_id,
)
if temperature > O:
probs = torch.softmax(logits[:, -1] / temperature, dim=-1)
next_token = sample_top_p(probs, top_p)

else:

next_token = torch.argmax(logits[:, -1], dim=-1)

next_token = next_token.reshape(-1)
next_token = torch.where(

input_text_mask[:, cur_pos], tokens[:, cur_pos], next_token



tokens[:, cur_pos] = next_token

eos_reached |= (~input_text_mask[:, cur_pos]) & (
next_token == self.tokenizer.eos_id

)

prev_pos = cur_pos

if all(eos_reached):

break
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next_token = next_token.reshape(-1)
next_token = torch.where(

input_text_mask[:, cur_pos], tokens[:, cur_pos], next_token

)

tokens[:, cur_pos] = next_token

eos_reached |= (~input_text_mask[:, cur_pos]) & (
next_token == self.tokenizer.eos_id

)

prev_pos = cur_pos
if all(eos_reached):

break
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if logprobs:

token_logprobs = token_logprobs.tolist()
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out_tokens, out_logprobs = [1, []

for i, toks in enumerate(tokens.tolist()):
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return (out_tokens, out_logprobs if logprobs else None)
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